SAMPLE QUESTIONS: C_TB1200_92

SAP Certified Application Associate - SAP Business One Release 9.2

Disclaimer: These sample questions are for self-evaluation purposes only and do not appear on the actual certification
exams. Answering the sample questions correctly is no guarantee that you will pass the certification exam. The certification
exam covers a much broader spectrum of topics, so do make sure you have familiarized yourself with all topics listed in the
exam competency areas before taking the certification exam.

Questions
1. A company has added several user-defined fields (UDFs) to the business partner master data. Some
users do NOT notice the fields in the side window.

What can the super user do to help these users?

Please choose the correct answer.

a) o Select the option to view user-defined fields for each user.

b) o Change the user authorization to full authorization for
business partners.

c) o Create a Ul Configuration Template and move the fields to
the main window.

d) o Change the display setting for the side window in the general
settings.

2. The accountant notices that there are open invoices in the system, although a payment was received.
What could have caused this problem?

Note: There are 2 correct answers to this question.

a) o More than one payment means was used in the payment
document.
b) o The invoices were not marked to be paid during the creation

of the payment.

c) o The payment date was earlier than the due date of the
invoices.
d) o No internal reconciliation was performed to close the

invoices.




3. What can you do when working with multiple branches?

Note: There are 2 correct answers to this question.

a) o Issue a single goods return from multiple branches
b) o Define a different system currency for each branch
c) o Share master data records across branches

d) o Monitor inventory levels for each branch

4. What are the advantages of using the Express Configuration Wizard to create a new company
database?

Note: There are 2 correct answers to this question.

a) o The wizard presents the configuration settings in the
recommended order.

b) o The wizard saves time because it is based on a pre-
configured company database.

c) o The wizard automatically applies the recommended
configuration settings.

d) o The wizard points out irreversible settings.

5. A company manufactures bead necklaces. The company also manufactures their own beads. All
components are managed in the company's inventory.

How would you define the Bill of Materials (BOM) for a necklace?

Please choose the correct answer.

a) o Create two production BOMs; one for the beads and one for
the necklace. The necklace BOM includes the beads BOM as
a component item.

b) o Create a production BOM for the beads and create an
assembly BOM for the necklace. Include the beads BOM as a
component item in the necklace BOM.

c) o Create a phantom item for the beads and a production BOM
for the necklace that includes this phantom item.

d) o Create a phantom item for the beads and create an assembly
BOM that includes the phantom item and the necklace item.




6. Which data from a sales order row is used for a standard availability check?

Note: There are 3 correct answers to this question.

a) o Shipping type

b) o Warehouse

c) o Document date

d) o Delivery date

e) o Iltem number and quantity

7. Your company sells sets of hardware tools. Each tool in the set is defined as an item in the system. You
want to have a price for the set of hardware tools.

How do you define the set of hardware tools in the system?

Please choose the correct answer.

a) o Define the set as a phantom item.

b) 0 Define an item group for the items in the set.
c) o Create a sales bill of materials for the set.

d) o Assign all items to the same discount group.

8. How would you enter the name and contact information for a sales prospect into a SAP Business One
company database?

Please choose the correct answer.

a) o Add a draft quotation
b) o Use a relationship map
c) o Create a lead

d) o Set up configuration data




9. You create an inventory transfer request for an item from Warehouse 1 (WH1) to Warehouse 2 (WH?2).
The transfer request subtracts the item quantity from the available stock in WH1 and adds it to available
stock in WH2.

What other changes are made to inventory status of the requested item?

Note: There are 2 correct answers to this question.

a) o In the issuing warehouse (WH1) the quantity is added to
Ordered.
b) o In the issuing warehouse (WH1) the quantity is subtracted

from In Stock.

c) o In the receiving warehouse (WH2) the quantity is added to
Ordered.

d) o In the issuing warehouse (WH1) the quantity is added to
Committed.

10. At what level must the bin location code be unique?

Please choose the correct answer.

a) 0 At the warehouse sub-level level
b) o At the warehouse level

c) o At the item level

d) 0 At the company level

11. What is the most important factor when determining the priority of a support incident?

Please choose the correct answer.

a) o The importance of the customer.

b) o The version and patch level that was tested.

c) o The business impact on the customer.

d) o The SAP Business One (SBO) incident component.




Solutions

1 a) Incorrect

2 a) Incorrect

3 a) Incorrect

4 a) Correct

5 a) Correct

1 b) Incorrect

2 b) Correct

3 b) Incorrect

4 b) Incorrect

5 b) Incorrect

1 c) Correct

2 ¢) Incorrect

3 ¢) Correct

4 c) Incorrect

5 ¢) Incorrect

1d) Incorrect

2 d) Correct

3 d) Correct

4 d) Correct

5 d) Incorrect

6 a) Incorrect

7 a) Incorrect

8 a) Incorrect

9 a) Incorrect

10 a) Incorrect

6 b) Correct

7 b) Incorrect

8 b) Incorrect

9 b) Incorrect

10 b) Incorrect

6 c) Incorrect

7 c) Correct

8 c) Correct

9 c) Correct

10 c) Incorrect

6 d) Correct

7 d) Incorrect

8 d) Incorrect

9 d) Correct

10 d) Correct

6 e) Correct

11 a) Incorrect

11 b) Incorrect

11 c) Correct

11 d) Incorrect
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